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2018 & =04k JIELSESIAH nEt
2N 1S
BE: HA FX 28 X4
el =XNHEMEE(FUHESEIA) (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
oS 6,883,000 1,863,000 5,020,000
2 3,000,000
Al 1,085,000
- 2,798,000
8 =X 23 24 5,984,011 996,509 4,987,502
2 3,000,000
Al 1,085,000
- 1,899,011
FUHEMNEHE (=UHESLESA) 508,521 613,711 A 105,190
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201 L2l 64,238 58,002 6,236
01 At 22l 33,580 32,635 945
Oget=&H| 18,400
—ESYHFINEESHE
100& *3&+30, 000 *80%< & 2> 7,200
—SHUFINE YN E
70,0003 *80IH »80%<&H 2> 4,480
—E2YFINHL2Y LS|
200,0003 « 123 «80%<ZE 2> 1,920
—WEHEXNTES
50,0003 * 12001 x80%< & 2> 4,800
O1ul =l 3,852
— FXUESOSH (A2 S HIIH) 1,926
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ch3t 50,0003 x6= 300
482 20,000 6K 120
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E =AYl 30,0003 6= 180
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— =SSO SH(HSBRE) 1,926
- U= 88,000& 6= 528
gsts 80,000& 6=t 480
th 3t 50,0003 x6= 300
32 20,0003 *6H 120
29 20,0003 6= 120
gt st x| 30,000& 6=t 180
ot= 33,000 6= 198
O= &l 11,328
—EHFEXNUAHEEZ S A
8,000 *721« 10 «12F «80%<E 2> 5,376
— SEZNUAEHOIZAHHESEZ2 S Al
8,000 x 12«15 « 122 «80%<E 2> 1,152
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A S
g

My MW FX 28 X4
cel: =NHENHE(FUHESLEIA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 50,000 50,000 0
01 A& HI 50,000 50,000 0
O=28= - IXNLRNALAXR 50,000,000& 50,000
SYHFEXN UM 2Y 160,157 259,847 299,690
101 @124 dl 50,602 43,479 7,123
4 DIt Z2XREES 50,602 43,479 7,123
OSHFINRUHZET(GHEEZSEE)
60,2403 «621 x 1752 xB0%< & 2> 50,602
201 Let24E] 109,555 108, 368 1,187
01 At 22l 3,360 3,360 0
Oget=gHl 3,360
—ReHEJNetEESMAE
100 *2E *12,000F *80%< & 2> 1,920
— SO M oSS O LH ) 2H BRI &
150,000 » 1201 *80%< & 2+ > 1,440
02 23=2gHl 106,195 105,008 1,187
O=323<HA 47,040
— RS AAEIEMNE S
120,000& 280 A+ 123 40,320
— SOHZAAYAEIIRD
20,0003 #2801 2128 6,720
OAE ZHIS X 59,155
— RoCEAAYST S|
474,000,000 *6% 28,440
— o= ot0 et 2 2=l 3,000,000 =7CH 21,000
— NHEEHERAHSAAE R E I
35,980,000 »3CH 9% 9,715
=HFEXN BHEg 2o = 162,576 181,416 A 18,840
201 Let24d] 161,296 180, 136 A 18,840
01 At 22l 35,968 35,968 0
Oget=gH| 35,968
—SHFENHSMESEAAY
70,0003 *504f KH+80%<&E 2> 2,800
—ESEUFINNHEDNMNLSS AN
70,000& = 1004 KH+80%<&E 2> 5,600
—SYUFEINLHSPUHYTHAEIAME
2003 *4,0000H = 128 «80%< & &> 7,680
—FENUHSHE L F O DM H
70,0003 *504f KH+80%<&E 2> 2,800
—SESYEINLEE
100, 0003 *6 I *80%<& 2> 480
—DETEEIIADE(EUS)
400,000 *2001 x80%<& 2> 6,400
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B 84X =X 28 X4
Sl FUHENE(FHISHEN) (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
PR
500,000& = 1CH*23] *B0%<E &> 800
—xTelfIlx=Hd 1,000,000 »80%<& 2> 800
— ESUURYHMLYEX
3,000 «602H 80%< & 2> 144
—BEHES+EIIMHTFANES
503 #2,3002 » 128 «80%< & 2> 1,104
~ BEHELYIANBE LS LR
30& %10,0002 »80%< & &> 240
~ BEEINCaELER
40,000% *3.5%*4,00021 *x80%<& &> 4,480
—MEFBXS(MEIAIAEANES
2,640,000 » 14 2,640
02 2324l 125,328 144,168 A 18,840
OS=2=Z A A 106,200
—oteH 330& 9,000 x12& 35,640
—-sJ<d# 1,960& +3,0004 x12& 70,560
OA& &l Xl 19,128
~FEIBDHBAAHSTLS S
1,594,000& »12& 19,128
202 o4dl 1,280 1,280 0
01 = LH o4 1l 1,280 1,280 0
OFEFXNUHESHEANE =2
20,000 221 x40 «80%<E 2> 1,280
FIAE HES(FHESL) 5,475,490 382,798 5,092,692
= 3,000,000
Al 1,085,000
T 1,390,490
SEFNHE =4 70,374 91,854 A 21,480
201 LB-2dH| 61,374 82,854 A 21,480
01 At 22l 16,614 16,614 0
Oger==EH| 16,614
—SAFL(ENEERXN,ZELS)
200,000 *3Z *80%<& &> 480
— =S NHEEYES= 300,000& =64 A~ 1,800
— SYFFIASLAHANDEE
400,000& 64 2 2,400
—FUNEAUELENE 3,040
=49 70,0003 *20 71 *80%< & 2> 1,120
2= 100& *4E %6, 0002 *80%<E &> 1,920
—MESFUESFBEEESNHE
300,000& »23| 600
—XNEMESHH (FESHH4)
250333, 176 m 8,294
02 =224l 44,760 66,240 221,480




EA: WEI
M MF ER 28 A4
S =XAE S (FUNEELEAH) (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OZ2Z22YLHA 8,760
—2YFNENIRSB 70,0002 9 A x12& 7,560
-~ BYFNBHLER3
50,0002 *x2 A 128 1,200
OA & &Hl XYl 36,000
— U E=INEAES K E S
4,000,000 90H A 36,000
405 XHAHFEIEHI 9,000 9,000 0
01 XAt 2 E F S| 9,000 9,000 0
OFARBIFIHCCTVE X
3,000,000& 304 A 9,000
2AFINEHANESI 2Ll (AAS)(AIB]) 40,000 0 40,000
Al 40,000
201 LBt | 40,000 0 40,000
Al 40,000
02 Z2=2=24%4| 40,000 0 40,000
OA & &l 8 XYl 40,000
— Z2EEINEHANESA2EH(ALAS)
40,000,000 40,000
Al 40,000
SR LAIF=XE =4 109,700 49,700 60,000
201 et 19,700 19,700 0
01 AP 2t 2] H| 19,700 19,700 0
Oexz 19,700
—ZSAAES2(LAZIHE) 19,700,000 19,700
401 AlEHIZL £ 0HY| 90,000 30,000 60,000
01 Al&H| 90,000 30,000 60,000
OBt AANF=XHEES 30,000& *3,000m 90,000
LHE F=XHE2D] AP (AlH]) 30,000 30,000 0
Al 15,000
5 15,000
402 SI2tXHE0| & 30,000 30,000 0
Al 15,000
5 15,000
02 QX E A E X (0| X THSH) 30,000 30,000 0
OWEF=XEA X 2,000,000& 1501+ 30,000
Al 15,000
- 15,000
OlHE2 F=XREHS AX(AH]) 20,000 20,000 0
Al 10,000
- 10,000
401 AlEHIZL 201 Y| 20,000 20,000 0
Al 10,000
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X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
- 10,000
01 A& HI 19,800 20,000 A 200
OolgEZ2=x2alddxl 19,800, 000& 19,800
Al 9,900
- 9,900
03 Al 2 THHI 200 0 200
OolHE2F=x P& 84Xl 200,000 200
Al 100
T 100
SESHEINFUNEZHLE (=) 5,000,000 0 5,000,000
= 3,000,000
Al 1,000,000
T 1,000,000
401 Al HIZ 201 I 5,000,000 0 5,000,000
2 3,000,000
Al 1,000,000
T 1,000,000
01 A& HI 4,586,500 0 4,586,500
OSESHEINFIEIMNLAY
4,586,500,000& 4,586,500
= 2,751,900
Al 917,300
T 917,300
02 2feldl 400,000 0 400,000
OSESHEIF=ISE ML ALY
400,000,000& 400,000
= 240,000
Al 80,000
T 80,000
03 A& =2 THHI 13,500 0 13,500
OSESHEI=XSE ML ALY 13,500,000 13,500
= 8,100
Al 2,700
- 2,700
SHAFIE MY XA (AlH]) 20,000 0 20,000
Al 20,000
402 RI2HXt20l ™ 20,000 0 20,000
Al 20,000
02 It 2 AL EZ (OIS ) 20,000 0 20,000
ORL=XE ML 20,000,000& 20,000
Al 20,000
ol g1yl 185,416 191,244 N5,828
801 Gl HI bl 185,416 191,244 A5,828
01 BHoil bl bl 185,416 191,244 N5,828
oaolglsl 185,416,000& 185,416




2N DED
HH: #FY2ILH(1SD)
el QY (FRYSHE) (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
HY2LIH(WSH) 198,989 166,491 32,498
AR AU(FAHESLSIAH) 198,989 166,491 32,498
A R2AH(=XNES LI AH) 198,989 166,491 32,498
101 1244l 198,989 166,491 32,498
02 DBt E = 133,446 101,897 31,549
O=Xct=2 (A2t IIHI/62!) 133,446
—Jl=a 91,064
AZEAETZIIM 1,222,0003 62!« 12 87,984
- MM 87,984,000& *3.5% 3,080
—JtE=H 9,231
- B < Xt 40,000 *0.90+62! x12& 2,592
JIE 20,0002 *1.61%62! x12& 2,319
=2 PIE 60,0003 62!« 12 4,320
—AHEEHEEE 3,363
nsstu 467,080& *0.30%62! x43 3,363
— A8 EXH 125,000 621 %20/40+ 122 4,500
— A g Al 130,000 621 %2.5/52 123 4,680
—AN2ZZ2Rg 8401362 x10AI 2tx12& 6,049
— G2 &l
1,222,000 *60! 86%+ 1/30%1/4+52A] 2+ 2,733
—samosy
) 2,444,000 62! x84%*8%* 12 11,826
03 RINAA=22XE > 65,543 64,594 949
O=XEANEFN22(HER/20) 65,543
—JlZ2s 1,297, 2003 221« 128 31,133
—&0=s 1,297,200 221 «400% 10,378
—AN2AZR=E 10,6303 *1.5%22! x180Al 2+ 5,741
—dXFIMN2ESY
10,6303 «BAl 2+ x201 20 3,402
—tE=H 3,077
BH < Xt 40,000 *0.90%22! x12& 864
J & 20,0003 *1.61%22!x12& 773
=M AH 60,0008 22!« 12 1,440
— =&l 130,000& »2Q1 «12& 3,120
— wSH| 140,000& =221 x12& 3,360
-2 60,0003 221« 128 1,440
— &5t 1,297,200 221 x75%x*23] 3,892
Heas(ns) 700,000 700,000 0
UWRAHXE(=IEHSESA) 700,000 700,000 0
TEDEPE 700,000 700,000 0
702 JIsdES 700,000 700,000 0




CHE - EI(BA) - NRAY - BYS 0l &k o4

=

i
2m

700,000 700,000
700,000,000& 700,000




